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ACO POS BIT QUANT| COMPRIMENTO
(mm) UNIT TOTAL
(cm) (cm)
SD1
50A 1 10 108 756
50 50A 2 10 104 728
SD2
50A 1 10 108 756
— 18 3 50A 2 10 104 728
in SD3
© 50A 1 10 108 756
e o 50A 2 10 104 728
© ) SD1
= 50A 1 10 108 756
N o 50A 2 10 104 728
Q SD4
— N—F gy 50A 1 10 108 756
z 50A 2 10 104 728
~ SD5
305 50A 1 10 108 216
50A 2 10 104 728
SD6
50A 1 10 108 756
50A 2 10 104 728
SE2
50A 1 10 108 756
50A 2 10 104 728
SE3
50A 1 10 108 756
50A 2 10 104 728
SE4
50A 1 10 108 756
50A 2 10 104 728
RESUMO ACO CA 50-60
ACO BIT COMPR PESO
(mm) (m) (kg)
50A 10 143 90
Peso Total 50A = 90 kg
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100 LI
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SE1/SE2/SE3/ SE4

SE5/SE6/SF1/SF2
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